


Compressor Head 2 and 3 * noillustrated

ltem Description NO.
2* |Compressor Head stage 2 and 3 7.60.00
3* |Compressor Head stage 2 and 3 comlete 7.70.00
5 |compressor head stage 2 and 3 with stud bolts items 13 u. 14 7.70.01
7 |sealring 7.10.02
8 |stop bolt 7.10.03
9 |screw adapter 1.10.06
10 |[gasketring A30 X 36 (copper) 1.10.07
11 |[screw plugM 22 X 1,5 7.10.10
12 |gasketring A22 X 27 (copper) 7.10.11
13 |stud bolt M 12 X 32 1.10.14
14 |stud bolt M 12 X 40 7.10.12
15 |Ball Disk Valve complete 4.20.00
16 |[screw adapter 7.10.13
17 |gasketring A10 X 14 (copper) 31103
20™ |Zinc Protection complete 7.11.00
21 |zinc plate L1107
22 |cylindrical screw M8 x 30 1102
23 |gasketringa 8 X 14 (copper) 51103
24 |capnutM8 5.11.04
25* |Suction Valve Grouping stage 3 complete 7.12.00
26 |screw adapter 7.12.01
27 |gasketring A36 X 44 (copper) 712.02
28 |valve adapter 712.03
29 |screw plug M 36 X 1,5mm 7.12.06

(15) |Ball Disk Valve complete 420.00
31* |Valve ring complete 7.13.00
32 |valvering 7.13.01
33 |gasketring 7.13.02
34 |gasketring 7.13.03
35 |[Ball Disk Valve complete 5.17.00
36* |Compressor Cover stage 3 complete 7.15.00
37 |compressor cover stage 3 7.15.01
38 |rubber seal o-ring 5.12.06
39 [screw adapter 714503
40 |gasketring 7.15.04
41 |hexagonnutM 12 1.10.05
42 |hexagon nut M 12 7.10.07
43 |check valve for starting air see 14.10.40

44 |cooling water pipe from compressor housing stage 2 see 12.91.60

45 |cooling water pipe to intermediate cooler stage 3 see 129115

46 |compressed air pipe to intermediate cooler stage 3 see 129211

47 |compressed air pipe from intermediate cooler stage 2 see 12.92.10

48 |gasketring A26 X 32 (copper) 12.92 31




	7_Compressor head stage 2 and 3_K25_02
	7_Compressor head stage 2 and 3_K25_ET_02

